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EEER (VLA RGHFIEL T8 HEHEELY m2 76. 6 80
EEER (RLE) FEEEEHEL HEHEELY m2 23.0 20
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TREER T8 L=3.7km HEHEELY m3 1316.6| 1320
it BiZAhthTcONE HEHEELY m3 1316.6] 1300
BkEEnT
EEET
FRIEY HEH) ) HEHEELY m3 66. 2 70
FRAEY T8 2% HEHEELY m3 67.9 70
HRL RAEREImEKH HEHEELY m3 115.8 120
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TREER I L=37km EFRBE LTSS HEHEELY m3 5.4 5
it BIZAnthTou0E HEHEELY m3 5.4 5
fET
TLE v RRUREE UZ! B i ) F2f8li# 300 x 300 BHEE! < ILFUBT4ke/m)EIS & EHEFH0.60m3/10m HEHHELY m 219.3 219
TLE v RRUREE UZ! B ) F2fAli# 300 x 400 BHEE < ILFU470ke/m)E1%E . EHEFH0.60m3/10m HEHHELY m 16. 1 16
TLE v RRURMEE UZ! B B FER{AIE 300 x 500 fHEE! 2 ILFU(566ke/m)E % &, EREFEF0.60m3/10m HEHEELY m 8.0 8
TLE v RRUREIE UZ! B i ) F2f8li# 300 x 600 BHEEY < ILFU(540ke/m)E1 % . EHEFH0.90m3/10m HEHHELY m 18.1 18
TLE v RARUEMEE UZ! B B FER{AIE 300 x 700 fHEEY < ILFU(636ke/m)E % &, EREFEF0.90m3/10m HEHEELY m 8.0 8
AP =k (L3 —F) 18-8-25BB(W/C=60%LLF) AHITE 4.43+0.71 HEHEE-RELY] m3 5.14 5
BEEEGRE) UZ B A FE2{EIiE 300 UDRYwME#(242kg/ BRI E & HEHEELY B 121 121
EEE(EEA) U B AERAIE30HA JL—FJ 4 | UDRYYEEFL(219ke/BE%E & HEHEELY B 14 14
B AR AI# 300 x 300 #ftErA BHEE OSIER% & HEHEELY m 235.0 235
B AR AI# 300 x 400 #tkrA BHEE OSIER% & HEHEELY m 4.0 4
B AR AI# 300 x500 #tErA BHEE OSIER% & HEHEELY m 4.0 4
B AR AI# 300 x 600 #itETA BHEE OSIER% & HEHEELY m 6.0 6
B AR AI# 300x 700 #tEiA BHEE OSIER% & HEHEELY m 1.9 2
T R B Eh  E A 300 x 300 1EHTFR HEHEELY m 18.0 18
{vN -t EHRAES) 18-8-25BB(W/C=60%LLF) ARZE6% HEHEELY m3 0. 46 0.5
HHAEAERIVY)-IE HiEH 18300 {500 BFEE HEHEELY " 188 188
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BRAEMERIL—FJE HFEE R10m 300 (T-25) HEHEESY 5. 24 24
B R ARAIERI L—F L MR 3008 (T-25 ARJLME L=1.0m HEHEELY (5. 9 9
TLE v RLREIE (FFE447°) @R-AL =600mm PLAYS—SAATR% & HEHEELY m 23.6 24
EETL
#Eav D) —rEHE ¢ 300mm HEHEELY m 9.5 10
kBt -2 R—ILT
WG H ki £ok#t1 [1500%500%H900 C0:0.39m3 HEHEELY R 1
TL-FrETE 500 X 500%#5A T-25 FIEH HEHEELY #8 1
WG H ki £ok#t2 [1800%800%H900 C0:0.65m3 HEHEELY R 1
TL-FrETE 800 X 800 #sA T-25 BIEH HEHEELY #8 1
EHEE HE&Y 1@ 2
WEYEHELT
BEYRELT
a9 —MEEYEIEL BEEEY HBEET HEHEELY m3 4.9 5
a9 —MEEYEIEL HEEEY WHET HEHEELY m3 55.8 56
S hR L M TRI7IWMEHERR t=15cmLL T HEHEELY m 13.5 14
e AL E TRI7WMEHERR t=15cmLL T HEHEELY m2 2321.3] 2320
EHR T
PRIEH COERF  L=150km @RUELAR HEHEELY m3 4.9 5
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BROE ik ZREBER)  L=150km EBUHELA HEHEELY m3 55. 8 56
BROE ik ASHEHIBEM L=6.6km EREZHR HEHEELY m3 100. 9 101
A5 CO#Ef HEHEELY t 11.5 12
RG> “REHEH) HEHEELY t 139.5 140
%) ASHRHIBE#4 HEHEELY t 237.1 237
HE
HET
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TREEEIE HEMBEL Hi81690.2+518515.7 HEHEELY m2 2205.9| 2210
FARAIZIVHEGET HiE
T B (& - BRTE #0) RC-40 t=39cm(E LINFHIBEL) HEHEELY m2 1955.7| 1960
L FERR AR (B - BREER) M-40 t=12cm HWEHEELY m?2 2095. 1| 2100
RIE (HE-REAR) BAEZHIEAS(20F) 3miB t=5cm (FLEIEAAEL] HEHEELY m2 2095.1| 2100 Bt
FARAIZIVHEGET $iE
TR CER) B %I E (58 #)RC-40 t=15cm HEHEELY m2 629. 4 629
Lt ERRAE E ) BT (SR RC-40 t=10cm HEHEELY m2 629. 4 629
RIE (HEE) BAMHEAS3) 1.4mELE t=3cm HEHEELY m2 629. 4 629
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EHEM B t=100mm 0.1m3/m2 BEHEELY m?2 268. 6 270
IHREL - #HEH B HEHEELY m3 97.9 100
BRL-#HED TRGEEL) BEHEELY m3 319.3 320
HEERTR— b (#) 18400mm 26 FYIFLUI0R KikENREY | FEEFERL-HEHTICED BEHEELY m 4447 445
BIuOET
TREER I L=37km EFRBETIES 649.4 - 319.3/0.9 HEHEELY m3 294. 6 290
it BiZAhihTONE HEHEELY m3 294. 6 290
ERitEELT
EERT (BRRER)

EERER(EN) ARFEPD 130 ZEAHF(T AT 1396.99 + FEMRER 36.72 =1433.71 HEHEELY m 1433.7| 1434
IR E M (BEN) % 1

EAARBF 77+4=81 HEHEELY & 81 81
1R E R GBIE) 7)-TIEAE-VE ¢ 150 HEHEELY m 219.8 220
BERERGEE) K718 ¢200(ZAE ¢ 50%5- ¢ 30%5) A% 21550 + 1EBER 847 = 223.97 HEHEELY m 224.0 224
1P E M GBIE) % 1

T 7Y-TItA-VE ¢ 150 HEHEELY & 112 112

B K T4 ¢200 AE 2230 + 1EBRER 40 = 2270 BEHEELY & 227 221

A—3RE ¢200 ¥ = Al AE 120 + FEHER 20 = 140 BEHEELY & 14 14

A34FE 200 AE 50 + HEERE 10 = 6.0 HEHEELY 1@ 6 6
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SOEETIR @200 (5045, $30%5) | AE 440 + 1EEFE 20 = 460 BEHEELY & 46 46
1B E M (FYERY—T) % 1
ARIFEP P 130 §'4hRY-7 AE-1EME (EH) HEHEELY & 122 122
CPFP® 125 4'4bRY-7 ERE(EH) HEHEELY & 15 15
KP ¢ 125 4"hRY=7" 5AE(EAN) HEHEELY & 6 6
KP ¢ 95 47hRY-7" 51AE(BEAN) HEHEELY & 33 33
7)-THEA-VE © 150 #')pRY-7 X E GEIE) HEHEELY & 10 10
h T D200 4HhRY-7 AE GEE) HEHEELY 1@ 12 12
PV 75 8 9hRY-7 EREGAIE) 15+18 HEHEELY & 33 33
FERT (E5RER) TLErRbRYHR
BRI 1R MZEB1200%H1500%L.3500 N2, N3, N4 S 3
TLEx YRR IREE I -18IAR 4 1500%1200*L1500 W=4410kg(5 %) RE LY & 1 1
T v ARy I REEE I -12/A2-M%4 7’ 1500%1200%L.2000 W=5680kg(5%) RE LY & 1 1
TLE v RRYIREE I -1 %8k T 0v% 1600%1900%t150 W=1140kg(Z %) HE LY 1@ 2 2
BERBE BHME+REYVY W=170+188.7=358.7kg(£% ) HE LY # 1 1
B S EEERE (BD) $810: 58/ T-25 {Z#EOyHH W=188.7kg(Z%) RE LY #A 1 1
B Y (M) $810 H=15cm W=170kg(Z%) HE&LY # 1 1
EERA BARBARC-40 t=100mm 7.2 HE&Y m?2 7 7
B HyLavyy—k 1.2 HE&Y m?2 1 1
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av9)—k 18-8-40BB(W/C60%LL ) 0.72 HE &Y m3 0.7 0.7
XEZEY AZA T L=1391 BHAI 3 + BEA 3 =6 HE&LY & 6 6
XEZEY AJBAT L=1391 BHAI 1 + BEAI1 = 2 HE&LY & 2 2
FEELS L=1700 HE &Y x 1 1
S I 1R K ZEB1200%H1500+L3500 N6 & 1

TLEx YRR IREE I -18IAR 4 1500%1200*L1500 W=4410kg(5 %) RE LY & 1 1
T v ARy I REEE I -12/A2-M%4 7 1500%1200%L.2000 W=5680kg(5%) RE LY & 1 1
TLE YRRV REEE I -1 %8k T 0v% 1600%1900%t150 W=1140kg(Z %) HE LY 1@ 2 2
ERE BHRETREILYT W=170%3+188.7=698.7kg(S %) HE&Y #A 1 1
FkER SRk E (M) $810:53EM T-25 {20y R W=188.7(8%) HE&Y #A 1 1
HIREREREEY T (M) $810 H=15cm W=170kg(Z%) HE&LY # 2 2
B Y (M) $810 H=15cm RTvFft W=170kg(Z %) HELY 8 1 1
EERA BARBARC-40 t=100mm 7.2 HE&Y m?2 7 7
B HyLavy—k 1.2 HE&Y m?2 1 1
av9)—k 18-8-40BB(W/C60%LL ) 0.72 HE &Y m3 0.7 0.7
XEZEY AZA T L=1391 BHAI 3 + BEA 3 =6 HE&LY & 6 6
XEZEY AJBAT L=1391 BHAI 1 + BEAI1I = 2 HE&LY & 2 2
FEELS L=1700 HE &Y Z 1 1
HREER I 2R PMIZEB1200%H1900%L 4500 N1, N5 & 2
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T v ARy I REEE BL-MZAF B1200xH1900%L1500 W=4935kg(5 %) RE LY & 1 1
TLEx YRR IREE BLAAZ B1200%H1900*L1500 W=5190kg(5%) RE LY & 1 1
TLEx YRR IREE B#A4 7 B1200%H1900%L1500 W=5425kg(5%) RE LY & 1 1
TLEx YRR IREE [-2% #miRIT OvY 1150 W=1415kg(8%) RE LY & 2 2
TLEYRMRYYREE e ftRyoI X B800 X H700 W=1070kg(Z%) HE&Y & 2 2
ERE BHRETREYLY W=170+188.7=358.7kg(Z: %) HE&Y #A 1 1
FkER SR E (M) $810:53EM T-25 20y ! W=188.7(8%) HE&Y #A 1 1
HIREREREEY T (M) $810 H=15cm W=170kg(Z%) HE&LY # 1 1
ERRA BAERARC-40 t=100mm 12.5 HE&Y m?2 13 13
B HyLavy—k 15 HE&Y m?2 2 2
av9)—k 18-8-40BB(W/C60%LL ) 1.34 BE &Y m3 1 1
XEFEZEY (EAMED E-B1447 L=1661 HE&LY & 3 3
XEFEZEY (EAHLED E-B2247 L=1111 HE&LY & 2 2
XEZEY GEERD T-BA4F L=1791 HE&LY & 3 3
XEZEY GEERD T-BJZAT L=1791 HE&LY & 2 2
FEELS L2100 BE &Y Z 1 1
FERERS B900*H1200+L5700(Z % ) EN-6 & 1

TLEYRMRYYREE EEEETOvS BI00*H1200%L2000 ZEA(=160)  W=3590kg(5%E) HE&Y & 1 1
LA YRRV REEE ZERBAABIOYY BIO0kH1200%L1400| IEAF(t=160) W=2430keg(Z %) HE&Y & 1 1
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TLE YRR IREE FAFAZRE I O0y) B900*H1200%L1400 ZEA(=160)  W=2600kg(5%E) HE&Y & 1
TLEYRMRYIREE FIEAES A A FLER T Aw4 B900%H1200%L900 | 12X F(t=160) W=1600kg(S %) RE LY & 1
TLEYRMRYIREE AR Ov% B1220%¥H1520 t140 ZER W=650ke(£%) HE&Y & 2
BERE HiE+E L FInyy W=(156.4+65.5+720) +2 =F14470kg(B%E) HE&Y #A 2
EERAHKE (M) M40 [1710%1000 T-25 fE#OyHH! W=156.48%) HE&Y #A 1
FREASE A 8% 2 (#4) M40 [0710%500 T-25 Z#0y/H W=65.5(8%) HE&Y #A 1
BHLEFITOYY (#) ZEESFER H=5cm W=81kg(Z%) HE&LY # 1
BHLEFITOYY (#) ZEESFER H=10cm W=162kg(5%) HE&LY # 1
&LFIovy (#) EEFREAFEA H=5cm W=62ke(£%) HE&LY # 1
BHLEFITOYY (#) EERBATLEA H=10cm W=124kg(B%) HE&LY # 1
&L FTavY (#) FHBAREEA H=5cm W=53kg(Z%) RE LY 8 1 o ii!,g
ELiFJavs(#) FARASRIERA H=10cm W=106kg(Z%) HE&Y #A 1
&LFIovy (#) FAEARR B A FLERA H=5cm W=44ke(B%E) HE&LY # 1
&LFIovy (#) FAEAZR B A FLERA H=10cm W=88ke(£%) HE&LY # 1
EERA BAERAERC-40 t=100mm 8.8 HE&Y m2 9
B HyLavy—k 15 HE&Y m2 2
avy)—k 18-8-40BB(W/C60%LL ) 0.88 HE &Y m3 0.9
FERERS B900*H1200%L5700( £ FA) EN-2 &
TLErRMRYIRE FELHET O BI00*H1200+L2000 B FFA(=200)  W=4650kg(5 %) R@E LY & 1
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THE - 5870 - #A - 5 &t g =X % B | & 8| FKE &5 &

TLEYRMRYYREE EERBAILETOYS BI00*H1200%L1400| = EF(t=200) W=3150kg(B%) HELY & 1 1
TLEYRMRYIREE FAFARRIET OvY B900*H1200*L1400 B L FA@t=200)  W=3360ke(5%) HE&Y & 1 1
TLEYRMRYIREE FEARR A A FLER T OyY B900*H1200%L900 | & _EFH(t=200) W=2070ke(5 %) RE LY & 1 1

TLEx YRR IREE Sk 7 0v4 B1300xH1600 160 = +tH W=830kg(Z%) RE LY & 2 2

ERE HiE+E L FInyy W=(156.4+65.5+3600) ~2=F1J1910kg(Z%) HELY #A 2 2
EERAHKE M) M40 [1710%1000 T-25 fE#OyHH! W=156.4(5%) HE&LY #A 1 1

GRS A 8% 2 (#4) M40 [0710%500 T-25 Z#0y/H W=65.5(3%) H&E&Y # 1 1
&LFIovy (#) ZEESFER H=5cm W=81kg(Z%) HE&LY # 1 1
&LFIovy (#) ZEESFER H=10cm W=162kg(E%) HE&LY # 7 7
BHLEFITOYY (#) EERIEAFIA H=5cm W=62kg(5E) HELY 4R 1 1
&LFIovy (#) EEREAFLEA H=10cm W=124kg(B%) HE&LY # 7 7
ELFJovs (#) BARAER A A H=5cm W=53kg(£%) BE &Y # 1 1 f:jm!,g
ELFJavs(#) FARASRIERA H=10cm W=106kg(Z%) HE&Y #A 7 7
BHLEFITOYY (#) FARARRIEAFLERA H=5cm W=44kg(BE) HELY 8 1 1
BHLEFITOYY (#) BARAZRE A FLERA H=10cm W=88kg(Z %) HELY 8 7 7

EERA BARARC-40 t=100mm 8.8 HE&Y m?2 9 9

B HyLavyy—k 15 HE&Y m?2 2 2
avy)—k 18-8-40BB(W/C60%LL ) 0.93 HE &Y m3 0.9 0.9

{E I PR 4ok N ZEB470%H850%L.1070 EN-1, EN-3, EN-4, EN-5 = 4
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AT LS $EERET hEE R H =2 KR (%))
THE - 5870 - #A - 5 &t g =X % B | 8 8| FKE &5 &
TLE YRR IREE IEES U5 Ht  B470%H850%L1070 W=1130kg(5 %) & 1 1
BRE BHE+ELIFIOv) W=(155.7+88*2) =*F $332kg(Z%H) HE&Y #A 1 1
1K E 57 ise ot FR K EE (#1) M50: 58 T-25 ZEEOyyE W=155.7(8%&) HE&Y #A 1 1
BELFIOvo(#) RESIZHA H=10cm W=88kg(Z %) RE LY 48 2 2
EERA BAERARC-40 t=100mm 1.1 HE&Y m2 1 1
B HyLavy—k 0.4 HE&Y m2 0.4 0.4
av9)—k 18-8-40BB(W/C60%LL ) 0.11 BE &Y m3 0.1 0.1
REET
REET
EERET
T=MER GEEER) W=5.0m L=96.6m X 1.0 1
R IMNRRR 2% 10.6 HEHEELY m3 10. 6 10
T REE I L=37km EFRBETIES 10.6 HEHEELY m3 10. 6 10
Eith BIZAnthTo0E 10.6 HEHEELY m3 10. 6 10
TREZEE (EWEEIEF) 11.0 HEHEELY m2 11.0 11
PRAE (BE3E - IR AR) BEAETRC-40 t=15cm (iEEBHEL) 11.0 HEHEELY m2 1.0 11
RIE (HE-BREAR) BAZHEAS0F) 1.4mEHF  t=5cm 1.0  FAFIBALEL HEHEELY m2 1.0 11
AR X ER(— X B Fib#R450m B 1.5 BAKR HKE | L=20 H-55:15m, MFIE: 2m HEHEELY = 1.0 1
RAVPAXER (—HKEff)  EfR15cm B HHEXME L=193.3 HE-97:1403m, #EE: 193m  smEHEELY = 1.0 1
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N . 3 . - a2 (=] =
M B £ B R i
TiE - 125 - #A - R & g = % B |# 8| S¥IE & &
a9 —MEEYEIEL BEmEEY AHNET 0.39 HEHEELY m3 0.4 0.4
PRIE 2tDT _CO%ERH L=15.0km @MHLLELT AR 0.39 HEHEELY m3 0.4 0.4
A5y COERA 0.39 X 2.35=0.92 HEHEELY t 0.9 0.9
EERERT
REEET RBEFEERE = 1.0 1
RBFEERE A 135A-Bx1A-H A-H 135 135
RBFLERE B 135A-H x4A-H A-H 540 540

13/13




BRI TH=E £S5R

% FR BB =g =X Bl % 2
TIHEELY BHEASHEE D 3
0z 1452.4  —  100.9 = 135150 [ 1351.5
BT TIHEELY 31.40 m3 31.4
Bt 135150 —  31.40 /0.9 = 131661 | ™ 1316.6
Y+ A E R TIHEELY 76.60 | ™2 76. 6
Bt EEER TIHEELY 23.00 m2 23.0
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HKBEYMI KR

% h W% =1 = Bif1 =
{EELXTT

E¥ELXT TIHEEZELY m3

BRI 44  + 63. 50 = 67.90 67.9
TIHEELY m3

FRIE (JEHI) 66. 20 66. 20 66. 2
E¥ELXT TIHEELY m3

) 3.0 4+ 112. 80 = 115.80 115.8
3

Bt (67. 90+66. 20) — 115.80/0.9 =543 |™ 5.4
E¥ELXT TIHEEZELY )

HEEBIE 23  + 352. 70 = 355.00 355. 0

fAET

MHEAR A 7S o

FLE v R FLEEE |FEHR-A 9.9+13. 7 = 23.6 23.6

UR! 5 R ERfBlE  [300 x 300 219. 3 m 219.3

300 x 400 BER 4) &Y 16. 1 m 16.1

300 x 500 BER 4) &Y 8.0 m 8.0

300 x 600 BER 4) &Y 18. 1 m 18.1

300 x 700 BER 4) &Y 8.0 m 8.0

300-x800 BAER ) fU 29 o 23

&3 m 269. 5

{un -bavhy-p 18-8-25 (20) BB|269. 5%0. 01645 = 443 m3 4.43
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+ B0 1 = = g2 =3 e = 1 = =
(m) M) M | M @ @ | m ™
NO.1 + 848 18.2 0.0 8.1 YR ERI-2
NO.1 + 12.98 450 182 | 1820 81.90 0.0 0.00 0.00 8.1 8.10 3645 N-1
NO.1 + 12.98 1.3 0.4 0.6 ERRER
NO3 + 6.24 33.26 1.3 130 43.24 0.4 040 | 13.30 0.6 060 19.96
NO.3 + 6.24 2.2 0.4 0.7 K £ A 93 sz
NO.3 + 7.33 1.09 2.2 2.20 2.40 0.4 0.40 0.44 0.7 0.70 0.76 EN-1
NO.3 + 7.33 1.3 0.4 0.6 ERRER
NO4 + 436 17.03 1.3 130 22.14 0.4 0.40 6.81 0.6 060 1022
NO.4 + 436 6.0 0.0 2.4 Y TRERI-
NO.4 + 7.86 3.50 6.0 6.00 | 21.00 0.0 0.00 0.00 2.4 2.40 8.40 N-2
NO4 + 7.86 1.3 0.4 0.6 ERRER
NO.4 + 16.96 9.10 1.3 130 | 11.83 0.4 0.40 3.64 0.6 0.60 5.46
NO5+ 0.96 4.00 35 2.40 9.60 0.7 0.55 2.20 2.4 1.50 6.00 ERRER
NO5 + 852 7.56 35 350 26.46 0.7 0.70 5.29 2.4 240 | 18.14
NO5 + 852 6.0 0.0 2.4 ZEE23 - Bk
NO.5 + 14.22 5.70 6.0 6.00 | 34.20 0.0 0.00 0.00 2.4 240  13.68 |[EN-2(N-21% %2
N F
252.77 31.68 119.07
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(m) mM) M @ | M  m @ | m ™ @
NO.5 + 14.22 35 0.7 24 BRER
NO6 + 1.78 7.56 35 350 |  26.46 0.7 0.70 5.29 2.4 240 | 18.14
NO.6 + 578 4.00 1.3 2.40 9.60 0.4 0.55 2.20 0.6 1.50 6.00 B
NO6 + 7.75 1.97 1.3 1.30 2.56 0.4 0.40 0.79 0.6 0.60 1.18
NO6 + 7.75 0.00 6.0 0.0 2.4 A TRERI-1
NO.6 + 11.25 3.50 6.0 6.00 | 21.00 0.0 0.00 0.00 2.4 2.40 8.40 | N-3(N-23% &2
NO.6 + 11.25 1.3 0.4 0.6 AIRERRA)
NO.7 + 16.97 25.72 1.3 130 | 3344 0.4 040 | 10.29 0.6 060 1543
NO.7 + 16.97 2.2 0.4 0.7 K £ A 73 sz
NO.7 + 18.06 1.09 2.2 2.20 2.40 0.4 0.40 0.44 0.7 0.70 0.76 |EN-3(EN-115 2
NO.7 + 18.06 1.3 0.4 0.6 ERRER
NO.8 + 1521 17.15 1.3 1.30 | 22.30 0.4 0.40 6.86 0.6 060  10.29
NO.8 + 15.21 6.0 0.00 2.4 Y TRERI-
NO.8 + 18.71 3.50 6.0 6.00 | 21.00 0.00 0.00 0.00 2.4 2.40 8.40 | N-4 (N-23% &2
NO.8 + 18.71 1.3 0.4 0.6 ERRER
NO.10 + 0.79 22.08 1.3 1.30 | 28.70 0.4 0.40 8.83 0.6 060  13.25
N F
167.45 34.70 81.86
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(%) (BET)
B:l| =1 - o on w &
= T , :Fﬁj = ol =3 :Fﬁ] = I :Fﬁj =
(m) mM) M @ | M  m @ | m ™ @
NO.13 + 0.21 4 0.7 24 ERRER
NO.13 + 808 7.87 4 350 2755 0.7 0.70 5.51 24 240 18.89 B RRER
NO.13 + 808 9 0.0 40 A IRERI-
NO.13 + 11.58 3.50 9 890 31.15 0.0 0.00 0.00 40 400  14.00 | N-6(N-53%82
N F
58.70 551 32.89
&
641.70 94.08 315.44
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EmEE
AR g BAE| s & wwms sEmr i
(m) (m) (m) (m) (m2)
NO.1 + 848 0.00 2.59 FEIRBRI-2
NO.1 + 12.98 4.50 4.50 2.59 2.59 11.66 N-1
NO.1 + 12.98 0.00 4.50 0.89 1.74 0.00 RIRER)
NO.3 + 6.24 33.26 37.76 0.89 0.89 29.60
NO.3 + 6.24 0.00 37.76 1.67 1.28 0.00 1K R 7 sk #
NO.3 + 7.33 1.09 38.85 1.67 1.67 1.82 EN-1
NO.3 + 7.33 0.00 38.85 0.89 1.28 0.00 RERERR)
NO.4 + 436 17.03 55.88 0.89 0.89 15.16
NO.4 + 4.36 0.00 55.88 1.80 1.35 0.00 IR BRI-1
NO4 + 7.86 3.50 59.38 1.80 1.80 6.30 N-2
NO4 + 7.86 0.00 59.38 0.89 1.35 0.00 RERERR)
NO.4 + 11.26 3.40 62.78 0.89 0.89 3.03
NO.4 + 15.26 4.00 66.78 0.99 0.94 3.76 BB
NO5 + 282 7.56 74.34 0.99 0.99 7.48
NO5 + 282 0.00 74.34 1.82 1.41 0.00 ZE 3= -BRRARE
NO5 + 852 5.70 80.04 1.82 1.82 10.37 EN-2
N F
89.18
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EmEE
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(m) (m) (m) (m) (m2)
NO5 + 852 0.00 80.04 0.99 1.41 0.00 BB
NO.5 + 16.08 7.56 87.60 0.99 0.99 7.48
NO.6 + 0.08 4.00 91.60 0.89 0.94 3.76 RIRER)
NO.6 + 7.75 7.67 99.27 0.89 0.89 6.83
NO6 + 7.75 0.00 99.27 1.80 1.35 0.00 IR BRI-1
NO.6 + 11.25 350  102.77 1.80 1.80 6.30 N-3
NO.6 + 11.25 0.00, 102.77 0.89 1.35 0.00 RERERR)
NO.7 + 16.97 2572 128.49 0.89 0.89 22.89
NO.7 + 16.97 0.00  128.49 1.67 1.28 0.00 1K R 7 sk #
NO.7 + 18.06 1.09 12958 1.67 1.67 1.82 EN-3
NO.7 + 18.06 0.00  129.58 0.89 1.28 0.00 RERERR)
NO.8 + 1521 1715 146.73 0.89 0.89 15.26
NO.8 + 15.21 0.00  146.73 1.80 1.35 0.00 IR BRI-1
NO.8 + 1871 350  150.23 1.80 1.80 6.30 N-4
NO.8 + 18.71 0.00  150.23 0.89 1.35 0.00 RERERR)
NO.10 + 079 2208 172.31 0.89 0.89 19.65
N F
90.30
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(m) (m) (m) (m) (m2)
NO.10 + 0.79 0.00, 17231 1.67 1.28 0.00 1K R 7 sk #
NO.10 +  1.88 1.09 17340 1.67 1.67 1.82 EN-4
NO.10 +  1.88 0.00  173.40 0.89 1.28 0.00 RIRER)
NO.11 + 115 19.27 192,67 0.89 0.89 17.15
NO.11+ 1.15 0.00 192.67 2.59 1.74 0.00 FEIRBRI-2
NO.11 + 565 450  197.17 2.59 2.59 11.66 N-5
NO.11 + 565 0.00 197.17 0.89 1.74 0.00 RERERR)
NO.11 + 1215 6.50  203.67 0.89 0.89 5.79
NO.11 + 12.15 0.00  203.67 1.67 1.28 0.00 1K R 7 sk #
NO.11 + 13.24 1.09 20476 1.67 1.67 1.82
NO.11 + 13.24 000  204.76 0.89 1.28 0.00
NO.12 + 076 752 212.28 0.89 0.89 6.69
NO.12 + 476 400  216.28 0.99 0.94 3.76 &
NO.12 + 14.09 9.33 22561 0.99 0.99 9.24 TR
NO.12 + 14.09 000 22561 1.82 1.41 0.00 ZE 3= -BRRARE
NO.13 + 021 570  231.31 1.82 1.82 10.37 EN-6
N F
68.29
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B RRE L%?E £ &  EMEX HEEARE
(m) (m) (m) (m) (m2)
NO.13 + 0.21 0.00  231.31 0.99 1.41 0.00 ERRER
NO.13 + 808 787 239.18 0.99 0.99 7.79 ERRER
NO.13 + 808 0.00  239.18 1.80 1.40 0.00 A IRERI-1
NO.13 + 11.58 350 242.68 1.80 1.80 6.30 N-6
IN F
14.09
PAS.
=] =]
261.86
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(m) (m) (m) (m®) (m) (m®) (m) (m®) (m) (m?) (m) (m2)
N—1~S-1 961 0.80 7,69 0.40 3.84 0.40 3.84 0.70 6.73 BEBREER LY
/N Bt 7.69 3.84 3.84 6.73
& &t 7.69 3.84 3.84 6.73
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I
RRE FHEIFEP ¢ 130
=P ‘ 154 BrEyY

smiEE | oy Bf ER  EAIR EE BE BE B o, B ERAR

() Lo ZE e e ZE ZE E(f@) &% | EESEH EEAE E(f@) WF e

ey (m) (&) (@) (m) (m) (m) (m) (@) (&)
N-1 ~ EN-1 33.00 0.430 3257 1 32570 7 227.990 7
EN-1 ~ N-2 17.00 0.430 16.57 1 16570 7 115990 7
N-2 ~ EN-2 21.10 0.430 20.67 1 20670 7 144.690 7
EN-2 ~ N-3 14.00 0.430 13.57 1 13570 7 94.990 7
N-3 ~ EN-3 25.70 0.430 25.27 1 25270 7 176.890 7
EN-3 ~ N-4 17.10 0.430 16.67 1 16.670 7 116.690 7
N-4 ~ EN-4 22.00 0.430 2157 1 21570 7 150.990 7
EN-4 ~ N-5 19.30 0.430 18.87 1 18.870 7 132.090 7
N-5 ~ EN-5 17.70 0.430 17.27 1 17.270 7 120890 7
EN-5 ~ EN-6 9.60 0.430 9.17 1 9.170 7 64190 7
EN-6 ~ N-6 7.80 0.430 7.37 1 7.370 7 51590 7
i @ & &t 204.30 1,396.99 77
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